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This document contains the supplemental animations for “A modelling
study of moisture redistribution by thin cirrus clouds.” The animations
shown here are for the four numerical experiments: no-rad (no-radiation)
and all-phys (all-physics) simulations in the dry and moist scenarios. Details
of the model configurations of these numerical experiments are provided in
the article. The animations can be played if the document is opened with
Adobe Reader.
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Figure 1: Representative trajectories of air parcels in the no-rad simulation
for the dry scenario. Dehydrated and hydrated air parcels are shown respec-
tively in red and blue. The cloud is shaded in yellow. Circle markers appear
at the locations and times where/when the air parcels enter the cloudy re-
gion. Circle markers are replaced by square markers when the air parcels
exit the cloud.
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Figure 2: Same as in Fig. 1 but for the all-phys simulation in the dry scenario.
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Figure 3: Same as in Fig. 1 but for the no-rad simulation in the moist

scenario.
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Figure 4: Same as in Fig. 1 but for the all-phys simulation in the moist
scenario.
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